EAGRAROBREERT — 2 N— IBISH —F

2021548238 (&) 1EI1IIE5H

LR 7 71 FILT7 Y —8 C3 ¥7%—M

‘ [R1%] & ‘ [REBE] — | & (&) 15000 B

[A&E£] 1 7% :900,000  ~ 23&:360,000 3 ~ 33%:225,000 W ~ 43%&:135000 M 5 & :90,000 M

B ®RBE BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S 4 6 | HPR 1:38.2 4-3-6-4 | 40.1| — 3 471 | DNEEEE— (J110&)
1 2 AIkeORZ 54.0 (=) (+6) (%) »EVE=R
R4 JF¥LLy b BRRETELT L INRHS
Sy R o4 | BOLH 1:38.2 14-14-2-2 | 40.1 | — 1 469 | FHEAER (J111)
2 4| R b 56.0 (7E) (-g) | LEAE
L—5—Yv 7 BNy —Fa—> (B) #HAEIA-FKL—Ya>@AE77
ey : w2 4 | WIBEHE 1:38.3 6-6-4-3 |40.2| — | 7 | 456 |WEAA ()
3011 |TATESH-% “ 7 5.0 (76) ) |TBEBE
LixvugTyk B koI vaqrn FER %Y K
X it 6 | BHERE 1:39.2 3-3-5-7 |41.1| — 2 469 | PNEESH— ()1108)
4|58 | TTY—LTIL 5.0 (4) (7) | AR
R:xAA4agyLvyy B:HYv—J71271 I EF 4505
SA # 7 | P 1:39.2 8-8-9-5 |40.6| — 9 482 | ig#ats (J110E)
] 5| &4 L KT 4.0 (7E) (o) | ZFEEF
LA TATv— Bibh=—t>TVUT AHRSHt IXF177—-4
e i 4 | MEESE 1:39.3 9-10-13-11 [ 40.2 | — 5 432 | LLESZE (1)
6l5|7| ¥¥=>TN=xI *50.0° 5t) ti0) | EHAET
L:d—IWRYy T B:YI= EXx SRS
5 P 4 6 | HEBSH 1:39.6 6-7-8-8 | 41.3| — 6 a8 | BEH— (11E)
7 9|77 LFvIH 45300 (11/2) @) | =M
R:vavrrhe7 B:vU—-vrryzn HET77—L
glzly1|/—Fnzz7u—- 4 ﬁﬁoﬁz 1:?40).5 9-9-11-10 | 41.9 | — | 12 | 49 gé&%: (111)
R:trso704 BTV 0| s
N N IIHEEE :40. -1-1- . - FRRESE (J11E)
olglia| x1vam975> i o4 Lt 1(410)7 1-1-1-1 | 43.2 1 (4;35) Faez
RiAfavR—5— B:YILAHYI— E BT
o = o= FLpgre-S 41, —5-7- . — HAFME (111E)
10/ 7112 TR T 2Ty iB 54.0 1(421)1 5579 4.0 10 (i‘:j) ?ﬁ#iﬁﬂl
RN—ErTr— BTRFTULL J—HrIr—L
AT i o4 | BRLEE 1:41.3 2-2-3-6 |43.5| — 13 | 420 |fEAKLZ (1)
EH") FI/UHUR 54.0 ) -a3) RBLEEA
AT RS BigL I XN—Ly b pScLie
S5 = w s 7 | BHEAE 1:41.4 12-13-10-12| 42.8 | — 4 468 | FHEIE— (JI]ig)
12\8(13| NFHTHT T 54.0 3/4) va | ) EE¥RE
o140 BT ATATATIV #XSt RUMI Z77—4
= 0 HTEHE & 41, -12-14- . - EAE (J118)
13 NSV P~ it 4 DEaE 1741&5 13-12-14-13| 42.4 8 (4_820) gmﬁ_
R:Y=Z24—-3=224— BA Y TH—HZX P U
3 o it 4 | FEERA 1:41.8 9-10-12-13 [ 43.0 | — 14 | 432 |WWAEXE (1)
14 3 I FI Y .0 (1 1/2) (+8) EHES
R:FHV¥YYT1ZXE B:Za—ZF797 I\ Hs
® 1 —F—@EBIERL
12—5+— 14,10,8,2,12,(1,9),5,(3,7,11),13,6,4
23—+ — 14,10, (2,8),12,1,9,5,11,(3,7) ,6,13,4
== 14,4,10,1,8,2,12,9,5,13,11,3,7,6
43—+ — 14,4,1,2,5,10,8,9,12,11,7,13, (3,6)
[ /N
B 2 510 714K 2-4 340 B 2-3 870/ JEE 1-2-4 2,990M
B B 2 170 1-2 1,030H e B 2=3 1,870M JEE 2-4-1 14,360M
4 140 1-4 940M B E 2-4 800M
1 300/ B H 2-4 1,790

ARICOVWTRDTEEERROODE. TR LIV,




